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QUESTION 1

A company has a virtualized environment. Hosts are configured to dynamically assign resources from the resource pool
as required. Ann, an administrator is remotely connected to a host and is adding ten more guests. She suddenly looses
connection to the host and fails to reconnect. Ann now finds that the server no longer responds when pinged. Which of
the following BEST describes the issue? 

A. Over allocation of guest resources 

B. Over allocation of virtual resources 

C. Over allocation of storage resources 

D. Over allocation of host resources 

Correct Answer: D 

 

QUESTION 2

Which of the following mitigates newly found vulnerabilities within software for an environment? 

A. Patching 

B. Clustering 

C. Elasticity 

D. Scaling 

Correct Answer: A 

 

QUESTION 3

Which of the following can be used to enable additional network interfaces on a router? 

A. SNMP 

B. WMI 

C. Syslog 

D. SMTP 

Correct Answer: A 

 

QUESTION 4

An administrator has three VMs and each has been allocated two virtual CPUs. VM1 and VM2 have CPU shares set to
normal priority. VM3 has CPU shares set to high priority. All three VMs are running CPU intensive workloads and begin
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to contend for CPU resources. If VM1 and VM2 are effectively given 1600 MHz each, which when combined represents
50% of the available processing power, VM3 will be given: 

A. 1600 MHz. 

B. 1800 MHz. 

C. 2400 MHz. 

D. 3200 MHz. 

Correct Answer: D 

 

QUESTION 5

A system administrator wants to create a mitigation strategy to quickly roll back a virtual image after applying the latest
updates. Which of the following would the administrator utilize? 

A. File backup 

B. Snapshot 

C. Offline backup 

D. Image backup 

Correct Answer: B 
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